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10.

Take 30 from 300.
5. Lunchtime lasts from half past 1

o until a quarter past 1.

How long do the children get?

| shared 24 sweets equally among eight children.

How many sweets did each child get? E/

. Which angle here is a right angle? @ ﬁj

What is the next term: 1, 15, 2, 25, g

A pear might weigh 100g, 1kg or 100kg?

Four children can sit at a table. How many tables are needed
for 28 children?

. Write the number that IS 4 +-+-++e-+-+++o—>

halfway between X and Y. 10 20
;2 4| A This magic square adds

up to 18 in each direction.
5) 6 6’ Complete it.

51815 2y

What number should fill the frame* Score

. | had €1 but spent 25 cent. How much had | left?

. What number goes at A? 4%"9
40 -16
. & of 24 sweets = [ sweets. A

‘Spiderman’ was on TV from a quarter past 5 until
a quarter to 6. How long was it on’?
A cornflake box is a

(cube, cuboid or cylinder) in'shape.
3x3%x3=1.1

. 4 buns can fit on a plate.

How many plates are needed for 18 buns?

. The sum of three numbers is 30. If two of the numbers are

9 and 12, what is the other number?
A girl works 8 hours a day.
How many hours will she wﬁﬂﬂn 5 days?

- Which angle here is NOT a ri

Fow. D
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-'9 Which sign (+, -
0. Complete this magic square. |9 |6 |7

_ Which number is nearer to 40: 34 or 457 34 45

. School starts at 9.30 a.m. &

If Step_hen was ten minutes late, when did he arrive?
4+ =4
A cake is divided into 8 parts. ‘v %

If | eat 3 parts, what fraction -'

of the cake is left?
If today is Tuesday what day was it four days ago?

. There are 32 children in a class. 16 of them are girls.

How many boys are there?
How many grams heavier
is the bag of sugar?

After sharing a packet of 25 sweets equally among 3 boys,
how many sweets are left over?

. Johnny had 100 trees to plant. If 20 trees fitted in each row,

how many rows did he plant?

celcleRe

William had four 20 cent coins.
How much more does she need to have €17?

. The letter IV is symmetrical.

Which of these is symmetrical? [F G W

Which two numbers have a difference of 11: 41, 18, 30?
500g + g = 1kg. x5

25 minutes to 6 is the same as || minutes past 5.
Write the number that is X1 Y2t
halfway between X and Y. i Ji

The 36 children in a class are divided

into 4 teams. How many in each team?
If a fly walked around the outside of Yo
this square, how far would it walk?

icm
, % or +) goes in the frame? 8 18 =1
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